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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. The question paper is divided into two Sections.

3. Attempt five questions in all, selecting three questions from Section A and two
questions from Section B.

4. Simple calculator is allowed.

5. Answers may be written in Hindi or English but the same medium should be
followed throughout the paper.
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PART - A (¥AT AN)
1. Argentina has 1200 units of labour available and Brazil has 3600 units of labour

available. Both countries can produce coffee and copper. The unit labour

requirement for Argentina in the production of coffee is 4 while in copper it 1s 2.

PTO.
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The unit labour requirement for Brazil in the production of coffee is 16 while in

copper it is 4.

(i) Construct Argentina’s and Brazil’s production possibility frontiers, algebraically

& diagrammatically.

(i) If there is free trade between two countries, what is the equilibrium relative
price of coffee (if demand for coffee/demand for copper=price of coffee/

price of copper).

(iii) Discuss pattern and gains from trade. (3+7+5)
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2. (a) Ukraine produces two goods, wheat and rice, where wheat is labour intensive
and rice is land intensive good. Show the relationship bétween the ratio of

factor prices and relative price of the goods. %)

(b) What happens to the production of wheat and rice if the country’s supply of
labour is increased ? Explain it with the help of Edgeworth box and production
possibility frontier. ' (10)
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3. (a) Tariffs and subsidies drive a wedge between the external prices and internal

prices. Analyse the effects of tariff and export subsidy on relative supply and

relative demand if :

(1) India imposes a 15 percent ad valorem tariff on import of

cinematographic goods.

(i) India offers a 15 percent ad valorem export subsidy on sugars and

sugar confectionary. @)

(b) England primarly exports manufactured goods and imports food and oil.

Discuss the effect on England’s terms of trade of the following :
(i) A pipeline explosion in Iraq disrupts oil supply.

(i) German engineers develop a fusion reactor that replaces fossil fuel

electricity plants.
(i) A harvest failure in United States.

(iv) A reduction in England’s tariff on imported cheese. (8)
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4. (a) Because of internal economies of scale in a good, neither country is able to
produce the full range of that good by itself. In view of the above statement
and also in the existence of comparative advantage, describe the pattern of

trade in case of two countries, two factors of production and two goods

model. 8

(b) In India, Bengaluru is a hub of information technology industry. Explain in

light of Marshall’s theory of external economies. )
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5. (a) Using the concept of consumer and producer surplus, show the :

(i) Gains and losses from export subsidies
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(it) Net effect on national welfare from tariff (8)

(b) The argument for deviating from free trade rests on domestic market failures.
Elaborate. _ (7
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6. (a) Any disturbance that raises aggregate demand for domestic output shifts the
DD schedule to the right, and any disturbance that lowers aggregate demand
for domestic output shifts the DD schedule to the left. Explain. @)

(b) Explain diagrammatically how can asset markets remain in equilibrium and

also derive the AA schedule. (8)
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7. (a) The Central bank of Italy can succeed in holding the exchange rate fixed
only if its financial transactions ensure that asset markets remain in equilibrium

when the exchange rate is at its fixed level. Discuss. 8)

PTO.
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(b) Greece has fixed its EUR-Dollar exchange rate, but decides on a sudden
change in the dollar value of Euro. Explain why ? @
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8. (a) Using the DD-AA model, illustrate that floating exchange rates make
the economy more vulnerable to shocks coming from the domestic money
market. (7)

(b) Itis believed that the unregulated nature of global banking activity leaves
the world financial system vulnerable to bank failure on a massive scale.
Explain. (8)
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